F5A k-1 <2& EW?

D -1<x<0 @)-1<x<3

® 1<x<3 @ x<-1E=x>3
1

® 5<x<1

x—1 <294 2<x-1<2
L-l<x<3




3(x—1) > 2+ 4(2x - 5)

AR5
2(3-2x) <—x+10

Mae?

@ 170 @37ﬂ @57 @6/ O
i)3(x—1)>2+4(2x-5) =>x<3

4
ii) 2(3—2x)<—x—|—10zx>—§
ANFEHL e -5 <x<3 OEE, oF VHAE o
B4 x O ASE 1, 2, 39 3 Aok,




D x<1 (@)x22 ® x>1
2x—3<3x+1 x> -4
_)
3x+1<5x-3 x>2

Lx=>2




ek - 17

>
>
>
> =E: 15
>
>

HE D 19

=
=

2~
n

A&St= A E4E x-2,x,x+ 22 5HHA
45<(x-2)+x+ (x+2) <55

45 < 3x < 55
45 < 3x x> 15 55
- - 55 T 16<x< —
3x < b5 X< —
3
. x=16, 17, 18

x = 40|22 17 o|th,
webA Al 2415, 17, 19 o]t}

=
=




(¢}

=

T &4 g2 A2

oo

@ a>b, b>c, c>d°|Ha>d
@ a>b>0, ¢c>d>0°"H ac > bd
1 1
@ a>b>00H =< =
a b
@ac>bc°]%a>b

® a>b>0, ¢c>00°]H

a a+b
- >
b b+c

B

@ a>b, b>colHa>c
a>c, c>do|Ha>d . %

@ c¢>dola>09RR ac>ad - A
a>bol1d>09B2 ad>bd - O
@, ©AA ac > bd . 3+
1 1 a-b
® a>b>0°2E2 a-b>0, ab>0°|tf. - - - = >0
a b ab
omz 1.1 g
a b

@ c<0¥9 9 ac>bco)Ha<boltt. AA
® a a+c _alb+c)-bla+c)

b b+tc b(b+c)
_c(a—b) o Sk
= bt 0" F




5(2x—3) < 3x—1
03x—4<48x+5

10x-15<3x—1,7x<14 ,x<2
3x—40 < 48x+ 50 , =90 < 45x , x > -2
SL—2<x<2




Sbx—T7<2x+2
2x+a>-x—-4

ot o) W, a+ b O] B Fotolet.
> =13
> "ED 4

EEZQHY a7t 1 <x<b 7 HS

= 1
5x—T7<2x+ 294 x< 30|22 p =3

_4_ao]_\:l_§

J8ug g =7 0] H},
W2hA a+ b ©) G 7+ 3 = —4o]ek.




8% o 22 2005 ©f ek, ei71o] xg o] 2FS Aol 4] 10% o1
20% PleFe] HE8 WEU T Atk x o WIS Totolel,

8% o] 225 200g o] AF9] &

8
_— = o
Top X 200 = 16 (g) °olth

webA 23 xg & F71H9E 9] B e

100 o]t}
o] o] 10% ©14 20% njFro| B2

16 + x
X
200 + x

x 100 < 20 ©]1,

200 + x
olt}. 7tes] Lt

iz 2
-9
x< 34
4

ot} watA x o] HoL 30 < x <30 o|t}.




